2021

2 FEBRERO

2021 ] ’Z REPSOL QUIMICA TARRAGONA
hd

2021

1 ENERO

gl=1=|1=Ix|e]ala]z|z]ola| |+ b= = =l T Gl 4 4 B B B B B B = xX|xlala]|ala|-[-|z|z]|=|=
8 z|z|x|x|a|la|=z|=]|-|-|elo S z|z]o =1 =4 B4 (=] f=] (=] I I gl=1=I=Ix|ele|lalz|z]e|o]+|+ 53 =1 =l I G 4 B4 =] =] B B B B 2 xX|xlalalz|z|=[=|+|-]|o|e
mwmwmwmwmwmw i - x[x|ala)alal=|=]z|z 14 -]z =] =] B4 [=] I=] (=] = 3 i alxl==|==]|-|-1z|z|=|= 2=1==|-[-1z|z]e]|e]o|o )| 2 X|xlalolz|z]|z[=z|+|-]|o|e
#* #* #* #* #* #*
S >1=1=1=|- |- xIx|==z|=z 3 - x[x]aela)elalz|=]z|z S I Il B4 (=] [} B4 [=] K=] (=] B B3 i alxlalal=|=|-[-]|z|z]|=|= N R B E EE EE EE b ES S xX|xlala|-|-|elel=|=]|z|z
N >I1>l=|=|- |- xIx|==]lz|=z N sz x|x|ala)z|z]ola]+|+ N ==+~ 4 P-4 B3 B B B fa] S Kl=e|xalalala]-|-]z|z]=|= Nixlalal=[=]-|- ol z|z 2| N xX|xlala|-|-|2o|lal=|=]|z|z
Ql=1ela)=[=1+- |- x|x]|o]z |z Q =1 =3 B P (=] [a) =4 =4 [=] (=) B g = =4 P-4 =] [aY B3 B fa] B3 Ll lelxlelalz|z]=|=]+]|-]o]|o N HE EIE B E EE GG R b & >1>1=1===|z|z| <<~
Ql~1zlzlela] == x| clo ]+ |+ Q <<= [=1=|=1-|-1z|z]=|= Q S|= |+~ P4 =4 [a] [a] [a] [a} Ja] b3 Qlxe|xlalalz|z]=|=]|+-|+]|o|o FE EHE EE EE R R G E R e alojalolzz|z|z| X<+
SIx1zlzlelel=l=]|x|T |||~ |- 3 x|xfalal=|=|-|-1z|z]=]|= ] ala]= FlF]alalz|z]o|x Sl=lelx]aolal-|-]lala]l=|=]z|z 3 = Gl 4 B4 BB B B = B B S alajalal=|=|z|z|x|x|+|+
Q=+~ lz[z]ele x| ola]l=|= Q X|xfalajaolal-|-1z|z]=|= Q ola]l= =l-lolalz|z]o|x Ql-lelx|elal-|-lelal=|=]z|z Q =lE1Z1ZEXIX1=1= 12 =2 e|e Q [=] (=} =4 =4 1=l [=Y B B B 1
Jl=l-I-l1zlz]lelalZlx]|alal=z|= B x|xfalalz|z]=|=]+|-]o]e 9 z|z]o sS|s]ola]+-|+]lo|x BN >I>1>=]==]z|z]x|e|-|+ d=1--1zlz182l82lclal=[=]e|e N} alalz|z]lala|+|-x|x]=]|=
S =1 1 I O 4 =4 B B B B B B bS] X|xfalajz|z|z|=|-|-]ele bS] z|z]o =1 =4 Ia) [aY I Il =] B3 by alal=[=]|=z=z]|z|z]| x| |-+ N Y B E G E M R EHE E ) R by alol-|=|z|z]| == x|x]|e|o
g s|s|-|-lzlzl==1 == 1< 1< I x|xfala|+|-|alal=|=]z|z < -]z <lal=1=1=|=1=2]> Ql=lelalalal=s|s]z|zx|o ||+ ﬂ x1=l=1-[-12|<1z|z]cla]e|e ﬂ 8 alal-|]z|z]=|=|x|x]o|o
o o
a1=1=1=l- |- zlz]lela]elalx |x 3 x|xjalal+-|-]ala]l=s|=]z|z 3 =1z xlal>|=]1=|=]o]a — S~ elalz|z]ala]-|-]X|a]=|= N al=lalal=s(=1x|E -~ 1z|z]o|o N w B B 1 D I G Y B B B 4 4
[N
o
Bl=lalal=|=|-[-]alalz|z x| ﬂ k] S>> =1==z|z x| x|+ ﬂ < -]z x|la]ala]=|=]o|o N Klxlalalz|z]aolo]-|+]x|a]=|= olafalal=s(=1x|2-|-1z|z]c|e < alal=|=|+[-]|x|x|ala]z]|z
L
o o
Six1ala)=(=]-|-]ala]z|z x| N far} alaf=(=1=|=z|zx|x|+|+ N fart ==+~ x|lalz|z]ola]ola SNi=lelal-|-zlz=|=]Xx]|a]o]o % fart z|lzlalx=1=1=I=1- |- == m v} =1 =Y B B G G O G = =Y L
oQ =
Sl1zlz|z]lalal=l=]|ala|+ |+ 2| < ] alajalal=|=z|zx|x|+]|+ 9 = I x|lalz|z]aola]ola o Sl=lelal-|-1z|z]=|=]x|a]o|a =) g z|z]a|x]alal=z|=1+-|-=|> w 9 zlzlaloal=[=1T|x]olo ]|+
[~ 5 0
vl=1zlzlala]=|z]ola] |+ T | < = = alajz|z|ala+|-IXx|x]=|= D B ola]= xlal-|-1z|z]o|o % = >I>l==]|-|-]ox]|=|=]|z]|z m S1>1z|zlolxelalz|=)- |- o|o o E z|lz]ala]=s[=]2|x]|cla]|+|+
o z
3 Il z|zIxIxl==1=== > % 3 alajz|z|ala+|-Ix|x]=]|= w 3 ala]= xlal-|-1z|z]o|o % 3 >I> ==+ ]alx]|alalz|z o Jl-1-|Flalxlelalelalz|=)z|z «~ 3 ~l=1z|zlelo]x|E]clo]=s|=
B —
< ~l=lz|z|X|X=]|=12|=]e|o < a alal-|-1z|z]=|=]Xx|x]ola © Q z|lz]x >|=1==)-|-1=]> [oe] al=lelal=|= - ]alx]ala]z|z AlxI-|Flalx]elalelalz(=)z|z Q ~l-1z|z]lala]x|R2]cla]=|=
qlI>l-I-lzlzlxIx]|ala]l=|=]o|a ] alaj+[—lz|z]=|=1x|x]ale N z|z|x alal=s|=|-|F1>]> Nl-lz|zlola]l=|s]alx]|ala]+|+ Slsl=|s]o|x]elalz|zle|la)+|+- N s|s|-|-lz[z]== == <] X
a1z - xIx]zlz]elala o b} B D G R B e ha} z|z]x alals|=]-|-2o]a dix|zlz]lelal=|=|elx]|ala]+]|+ dl=1=|1=e|xelelz|z|e|a)+ |+ hu} =1 = I T =4 =4 =] (=] B B B B
Sixl=zl=l-I-IxIx]|z|z]|ala]o|a S >SI>l=(=+ |- x|x]ala]lz|z =1 = Gl B3 alajalal=|=]z|z Sl=zl+|-1z]|z]elo]alx]ala]=|= S <lal=1=1=1=21-1-1zlzl=|= =1 s|s|-|-]lz|z]ala]ala]x]|x
olz|ala]l=[=x|x|-|-1z|z]|a ]| =) olalz|z)-|-Ix|x|clo]z|z o ol Gl olajola]l=|=|z|z o|lal-[-lz|z]|ela]a|x]|ala]=|= x|lajaolal=|=-|-1z|z]l=]= o olalzlz]+||al|a]z|z]x|*x
o|lalala]ls[=x|x|-|-1z|z]o | © z|z]ola]l=[=x|x|elo]-|+ © s|=]x olalz|z]e|e|+|+ sl=l-I-1z|z]=]|= ]| == 1 x| o|>[x|alo|alela)-|-1z|z|=|= © olal=zlz]+|+|ola]z|z]x]|*
~ z|z|x|x]|=[=1=|=|-|-1=|> ~ z|z]olal=[=x|x|elo]-|+ ~ s|=]x olalz|z]e|e|+|+ =1 = O =4 B =) (=Y B B e N YR e EHE EHE EE R ~ z|z|ala]=[=|e|o|+|+]x]|*
© z|z|x|x]a|la]z|z|-|-1>|> © Fl-1z|zlele]x|x|ala]=|= a|x]> >>1-[-|zlz)=]|= o|>]=|=]+|-]|z|z]e|a]a]a]x|a o|x|x|ala|a)z|z]=|=]+]|- || © FHHE R R EE R R R R
w|>|z|z]x|x|aola]|=z|=z]+|-|o ]| ) Hl=1z|zlele ] x|x|elo]=|= al|x]o >1>1--1z|z]=|= wl-|ala]z|=]+|-]|ela]z|z]|x|e w|z|x|a]o|a]+-|-]lela]l=|=|z|z w0 =l=1zlzEx[x= 1= == ==
S il Ll L e B =) =0 =) =0 = = - 4 = =3 I L =4 =4 B B B B ] RS < a|xfo alaf--Zz|Zz]1Z|= s |xXfjalafz|=|+]|-|elez|z|X]|o NI B =] =1 =] i L 2 =0 3 A < HI-lZ|1Zz|X|X|=]|=|=|=]|c]e
o|x|-|-]x[x]ala]ala]=|=|z ]|z s|=l--1z(z1= 1212 = << ® al|x]o z|zl=z|=]+|+|e|e w|z]z|z]|ao|a]|=|=]e|o|+]|+]x|e >|1>1==1=|= z|z)e <]+ ® =l-lzlzx[x]ele]|=|=z]e|e
~|=] ==l <% 2le]z|z]e|o|- |+ o~ s|=l-|-lz|z]ela]elo]x|x ~ a|x]o zl|z]l=z|=]+|+|e|e ~la]z|z]ala]=z|z=]e|a|+-]|-]x]|o alal>|=1=|=lz|z]e|x]+]|+ ~ s|=|-|-Ix[x]z|z]|ela]o|e
<|=al=l=lx|x|ola]|z|z]o|o|- |+ ~ =Y f=¥ =31 I I =) f=Y =4 =4 BN B - al|x]o =G ElE EE EHE =l=1zlzlelx] =1z == == <|>lolale|al=z|z)z|z]o|x ||+ “ s|=|-|-1x[x]z|z]|ela]o|e
ol 551 i RN el I Bl o Bt I el R ol 1 B R Bed RN el ol B B B ol 1 s bl RN B R Bt I Bl I ol 1 Bed R B IR el ol Bd B el ol 1 B R Bed R Bed B Bed B Bl I ol Bl Bed R B IR el I Bd R e
<< |ala]o|O|a|a fuf | | <|<|alajolofofofu|u L)L << olojolafu|ufd|d <|<|alaolo]|o|ofu|u L)L << jafojolo]o|ofu]w ]l E4Ed E1EY [S1[e] [=) f=Y i) (<) A1 O
- XIxI=1===l-|-|z|z]|=|= b= fa) a¥ B b3 T I [a] (=] =4 =4 B B - o|x|lo =l-lelels|E]z|z M-TTNNDXVVMMDD
S x|xala|=[=]|-|-]|z|zl=|= 8 z|z]alal=|=|e|o || x]x S >[>]> sl=)z|z|x|o )|+ gl=1-[-1zlzle|x]ola]=|=]|c|o sl~lelelz|zlelel-|-2o|x]=]|= S alal == |x|x]|-|-]z|z]o|e
Q= 1x[x1ela]ela]-[-]z|[z]=|= i =4 =4 [a] [} D1 4 Fal fa} I 2 B B m [a) [=] B3 s|z|z|1zX|e]-]|+ ===+ e|x]|z|z]e|a]e|a Qlxfelalz|zle|a]-|-]o|x]=|= m alol=|=|x|x]|-[-|z|z]|e|e
Q= 1xx|ele]z|z]|=|=]|-|-]o|o X =l-1zlzxx1= === =)= S =] [=] [a] sl=)z|z|x|e )|+ glx|=[=]|-|-1e|x]z|z]cle]|clo N ElE EE EE EE R e S zlz|x[x|=[=]|=|=]|-|-1=|>
N[x1x[x1ela]lz|z]=[=]-|]o|e X == z[z <<= 12|=]ele N ola)z olal-|-IX|e]l=|= Rl=lelel=|=]e|x]|-|-|z|z]e|c Nl-lelal-[-1z|z]=[=]e|x ]| N z|z|x|x]|ala|z[=z]|+|-|=|>
Q1= xx|ele]-|-]ele]l=|=)z ]|z Q =l-1z|zx|x|ela|=|=]o]o 8 [a] [=] =3 alal-|+|x|e]l=]|= Ql=]ele]=|=]o|x]-|-]z|z|c|o Q >>1=(=|-[-Ix|e]=|=]1z]|z 8 zlz|@|2]|ale]=[=]|-|-]2]e
L=1x[x1ela]-|-]ala]=[=]z|z {Q sz~ Ix|2)z[z]|e|a]o]o Q [} (=] I z|z]=|=X|e]o|e Q zlzlolx|=|=]|=z=z]|-|-|=|> Q S>>z - |- X|elele)z|z Q =l-1E < |ale]ele]=|=]z|Zz
S >I>1=>==[=]z|z| x|x]- |- S s|z|-|-Ix|Z]z|z]|e|e]o]e S ala]+ zlz|=|=|x|e]e|e S z|z|o|x|ale]=[=]|-|-]1>]|> NMEd LI B E EE R A EE B S -2 [x|ale]ele]=|=]z|z
Q alol=1=|=z|=|z|z <<~ |- Q aolal=s|= 1@<~ |z|z]2]o Q >|1>1= o Gl =) Y B B 4 B4 Q= 1zlzlelx|e|lal=|=]-]|-]2o|o Q- 1z|zlelal=[(=x|a])e|a]+- |+ Q sz x| |ale]z|z]|o|lo]+]|+
df=1ela)olals|=]z|z <<+ |+ BN alalzsl=Z <1+~ 1z|z]l2]e N >|>1= ~l-]a|x]ala]lz|z - -|Flelx]ala]ala]l=|=]z|z INEY EHE EIE B B A R G g s(=1x|2]cla)z|z]olo]+|+
Q- lelelz|z]lelal- |- x|x]=|= g zlz|x|x|=|=1=|=-|-1=]|> i ola]= Hl-]al|x]ala]lz|z JIx-|Flelx]ala]ala]l=s|=]z|z QI+ IF1z]1zlelelx|alela)=|= ﬂ b} <Ixl==l==l-[-|z|z]l=|=
o
Qx1ela)z|z]ela]- |- Xx[x]=|= I z|zfx|x|aela)z|=-|-1>|> I z|z]o =1 =4 Ia) B fa) (=Y I I QI=Zl=|=el|x]|e|la]lz|z]e|a]+|+ - -1+~ 1z|zlela]x|a]ela]=|= N I X|xlalol=|=|-[-|z|z]|=|=
s\
o
2lslalal-|-]lzlz]l=[=]|x|x]|o|a ] zlz|x|x|alal=|=]-|-]a]e it z|z]o s|s]a|x]ola]+-]|+ alals|=o|x]ala]z|z]alo |-+ N ] =3 D T S =4 =4 B B B B =) B 2 2l 1clolola)--]z|z]=|=
Sl=jalal-|-]lzlz]l=[=]|x|x]|o|a - = o Gl B i =1 0=Y = =Y S s -l =1 = Il =4 alaja|x|olal=|= — 3 xlal=|=|==1-|-1z|z]=|= 3 sz~ 1z|zlelal=|=]o]x w X X[<lalalz|z]=s|=]+|+]o|o
o o o
o o o @
N B B 1 Y I Y Y B B = 4 N N Hl-EIx|Zlalaalalzs|=]z|z N fart -]z alaja|x]ala]l=]|= N N xlalalal=|=]|-[-]z|z]=|= % SIz1s|s- R 1zlzlelafela)olx W N 2lxlaelalz|z]=|=]|-]|+]|o|o
9 >z~ |- X|X]elelz|z g szl xlelelz|zlaela)+|+ 9 = z|lzl=|=1=|=1X]|e Sl=1x|alela]ala]-|-]z|z]=|= W Sl=lelal=|=)-|Flela)z|z]olx _.W_ 9 B il =1 =Y O =Y =Y S e S
o W]
Bl>lalal=|=|- |- xIx]|alalz|z M = s(=|Zx<|alalz|z]ala]+|+ m L S|+~ 4 4 1= [=] B3 B B [=) D vl-Ixla]lalalz|z|=|=]+]|+]o]o = Blxlalalzs|=l-|+lelalz|z]o|x m 0 x|Rlala]-|-]|alalz=|=|z|z
- o
S~ 1zlzlelel == x|x]| |||+ AMn 3 x|x1=|=1=|=1-|-1z|z]=|= AMn ) = P4 =4 [a] [a} [a} [a} 4 [a} N SxIx|lalaelalz|z|=|=]+]|+]o]o _N._b._ N FEHE EE EE R E GE ELES 3 B B B B ) D =4 4 Y B I
—
—
alxlzlzlele|=|=|x|x]olo|-|-] ™ Q x|xlalal=[=1+-|-|z|z]=|= [Te} Q ola]= ~l-lelalz|z]lx|a] ~ Sl=lx|alela]+|-lo|lol=]|=]z|z o al=lzlzle|al=|=)e|a]+]|+-|o]x Q ola|=|=]l=(=]z|z|x|x]+|+
1 3 T O 4 4 = (=1 B B =) [=Y D=3 b S x|xlalaale-[-|z|z]=|= S ala]= =l=jelez|z x| Sl=1x|elele]-|-1ele|=z]|Z]z|z S =l=1z(z|x[e)=1=121=21>2 > S oflalelolz|=)z|z|8|12] |-
dl=l=-lzlz]lelalx|x]|alal=z|= 4 NN =R EHE EHE EE EE 4 z|z]o s|s]ola]-|+]Xx]|o 4 >I>1>=]==]lz|z]lolx ||+ = FlFLZ|zIx|el=l= == e|e 4 alolz|zlelo]+-|+TE|x]=|=
9 = D I =4 =4 B B B B B S <|Zlelelz|zlzl=)-|+]lole 9 z|lz]o = = =] =Y I B fa) S alal=|=|=|=1z|z]o|x ]|+ Szl |F1z|zx|ele|lal=|=] | 9 alalz|z]olo]-|-]2|x]=|=
o s|=|+|-lz|z]ola]=|=x|*x =) 2x<felal-|-lelol=(=]z]z = G B olxl>|=1=|=|>|> ol|>]alalalal=z|z)z|z|o|x ]|+ aol=l=l=]+|-Ix|a)z|z]o|a]c]o o ola|-|-]z|z]=|=|x|E ]|
o|>|=zlz]-[-|z|z]|ela]o|o]x|x © il B =1 =) G G e Y e = G £ alx|>|>1=|=]e|e ol ]alalz|z]|ela]-|-|o]|x]|=|= o|x|z=|=]+|-|x|c)z|z]o|a]e]e © ola|-|-]z|z]=|=|x|2] 2|
~|=lela]ls[=]+-|-]elalz|z < |x ~ >|=1=1===1z|z | x|x ]|+ ~ = G B ol|xlaola]l=|=|e|e ~|x|ala]z|z|o|a|+|-]a|x]|=|= M ElE EE B EHE EE R B B B I G Y Y S B 4
ol|x|ala]zs[z=]+-|-]|ela]z|z|x|x © alal=|=l=(=1z|z|x|x]-|+ © sl=|+ ol|x|z|z]e|a]e|e o|z]alal+|-]|z|z]=[=]|2]|x]cle olalalalzs|z=lx|c)-|-1z]|z]|e]e © >|>|=l=]- - x|x]|ele])z|z
wl|=|z|z]o|a]=|=]|ola] |+ X |x w olajala]=zs(=]z|z|x|x]-|+ ) ==+ ol|x|z|z]ae|a]e|o wlalalal-|-]z|z]|=|=]2|x]| 2] z|zlx|al=|= ==+~ 1>]> w0 ola|=|=]+ | Xx|x]|cla])z|z
<|=]lzlz]lele]z|z]|ela] |+ X% |x < olalz|z]elo]-|-Ix|2]=|= < ola]= alx|-[~1z|z|e|e >|=|=zl=z]- - x|e]|>|>]z|z z|z|x|a]e|alz|z]-|-1=]> < z|z|ala]=[=]x|x]|ala]-|+
® =l=1zlz1x <= 1= === |2 © olalz|z]elo]+|-Ix|E]=|= ® ola]= o|x|-|-1z|z|e|e >|> ==+ x|a]elea]z|z o|>|z|lz]x|a|ela)z|=]+]|- || ® z|z|oloa]l == x|x]|ala]+|+
o~ HiElZ|Zz|X|X]>=|=]=2|=]e|o ~ olal-|-lz|zl=[=|2]x]2|o z|z|Xx B B = Ll L e B ~NI>1alaZ|Z |+ X|efelo)z]z Y k=X Il I B (=] =) =0 =D =0 B 4 o~ HEZ|z|oeloX|X]|a|la]=|=
<|>|-l-1z|z]|x|x]|ela]l=|=]o ]| “ olal+-|-lz|z]=|=|Ex ]| z|z|x olal=zl=]+|+|>|> “|=|z|z]e|o]=|=|x|a]o|o|+]|+ <|x|-[-1x|a]elalela]l=|=|z|z “ =l-lzlzlelox|x]|ala]=|=
ol 4 Bed R Bed bd Bl N Bl S Al ol 4 Bed Y Bed N B N Bl B Bl ol 1 iy bod RN Bl Y Bt B Bl ol 5 Bed o Bed N Bl N Bl S Bl bod B B R e Y Bl N B B Bl S ol > Bed o Bed b Bl N Bl S Bl
<< |ala]o|O|a|a fuffu | <|<|alajo|ofofofu|u )L << olojolafufufd|d <|<|alaolo]|o|ofu|u )L << jafojolo)o|o ] fud]d <|<|ajo|o|o]|o|o || fui|d




